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string
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50S ribosomal protein L14: RV0714−2.76

50S ribosomal protein L24: RV0715−2.76

50S ribosomal protein L5: RV0716−2.76

30S ribosomal protein S8: RV0718−2.76

50S ribosomal protein L30: RV0722−2.76

50S ribosomal protein L17: RV3456C−2.93

30S ribosomal protein S10: RV0700−3.21

50S ribosomal protein L4: RV0702−3.21

50S ribosomal protein L2: RV0704−3.21

30S ribosomal protein S19: RV0705−3.21

50S ribosomal protein L23: RV0703−3.21

30S ribosomal protein S3: RV0707−3.21

50S ribosomal protein L16: RV0708−3.21

50S ribosomal protein L29: RV0709−3.21

30S ribosomal protein S17: RV0710−3.21

log10(P) upstream meme1 2 log10(P.clust)=−3.04; 15 seqs; 3 uniq
c(0.5, 2.5)
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